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1 Introduction

FR2 ACLR test procedure has been defined in TS 38.521-2 [1], and uses 2-step approach same as LTE and FR1. However in FR2, absolute requirement requires much relaxation due to Low PSD issue. The purpose of this contribution is to provide new test procedure (how to conclude verdicts) to minimize impact by Low PSD issue.
2 Discussion

2.1 Test procedure of ACLR test
Test procedure of FR2 ACLR test is defined in TS 38.521-2 as below, and can be summarized as Figure 2-1. Not only FR2 but also LTE and FR1 use this “2-step approach” for verdict.
6.5.2.3.4.2
Test procedure

5.
Measure TRP of the first NR adjacent channel on both lower and upper side of the assigned NR channel, respectively using a rectangular measurement filter with bandwidths according to Table 6.5.2.3.5-1. Total radiated power is measured according to TRP measurement procedure defined in Annex L. The measurement grid used for TRP measurement defined in Annex I. TRP is calculated considering both polarizations, theta and phi.

6.
Calculate the ratios of the power between the values measured in step 4 over step 5 for lower and upper NR ACLR, respectively.

6.5.2.3.5
Test requirement

If the measured adjacent channel power, derived in step 5, is greater than -35 dBm then the measured NR ACLR, derived in step 6, shall be higher than the limits in table 6.5.2.3.5-1.
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Figure 2-1 Test procedure of ACLR test
Observation 1
: ACLR test is 2-step approach.
· 1st step
: Absolute requirement (whether power of adjacent channel is higher than requirement)
· 2nd step
: Relative requirement (whether ratio power is higher than requirement)
2.2 Low PSD issue for 1st step measurement
As described in previous section 2.1, test equipment needs to measure power of -35 dBm in first step (absolute requirement). However, considering discussions and agreements in previous meeting RAN5#81 (Nov-2018), this value (-35 dBm), which is same requirement as off power cannot be measured without relaxations due to Low PSD issue in FR2. In order to measure UE power of -35 dBm, relaxations up to 33.1 dB are required according to endorsed document [2]. On the other hand, relative requirement measurement requires only 6.0 dB relaxation.
Observation 2
: Absolute requirement (1st step) in FR2 ACLR cannot be measured without relaxations.
3 Conclusion
Considering discussions above, following proposal that is “1-step approach” can be provided. Figure 2-2 summarizes this proposal. This proposal doesn’t exceed core requirement.
Proposal 1
: Update test procedure of FR2 ACLR as below.
6.5.2.3.5
Test requirement

The measured NR ACLR, derived in step 6, shall be higher than the limits in table 6.5.2.3.5-1.

Table 6.5.2.3.5-1: General requirements for NRACLR
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Figure 2-2 Proposed test procedure of ACLR test
4 Proposal
Proposal 1
: Update test procedure of FR2 ACLR as below.
6.5.2.3.5
Test requirement

The measured NR ACLR, derived in step 6, shall be higher than the limits in table 6.5.2.3.5-1.
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